JL_

|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) 5 2) 55
_43 1.
2,
3) -70 4 1
7 3.
4.
5 _2 6) -37.84
1= 5.
3
6.
7) 551.36 8) 0
7.
8.
9) 3.000 10) 2
9.
10.
1) 25 12) 80 N
5 9 '
12.
13) -9 14) -8
13.
14.
15) 687.000 16) 2
-8= 15.
7
16.
17) 7 18) 58
e 17.
9
18.
19 51 0 20 .
9 9 '
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) A 5 2) 55
-4— no
9 1.
2, YES
3) -70 4 1
p— es
7 3. Yy
4, no
5) 6) -37.84
7g 5. no
3
6. no
7) 551.36 8 0
7. no
8. YES
9) 3.000 10) 2
9. YES
10. YES
11) 925 12) 80
— — 11. €S
5 9 Y
12. no
13) -9 14) -8
13. YES
14. Yes
15) 687.000 16)
-82 15. yes
7
16. no
17) 7 18
) ) 58 17, yes
9
18. no
19 20
) ﬁ ) & 19. YES
9 9
20. no
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) -957.000 2) 959.00
1.
2.
3) -3 4) 35
3.
4,
5) 568 6) 894
5.
6.
7) -2.000 8) -7.427
7.
8.
9) -442.0000 10) -909
9.
10.
11) -5.2 12) 13
— 11.
2
12.
13) 13 14) o
— 13.
2
14.
15) 5 16) 18
— — 15.
5 3
16.
17 18
) 2E ) -5é 17.
8 3
18.
19 20
) 54 ) 3 19,
9 4
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) -957.000 2) 959.00
1. YES
2 YES
3) -3 4) 35
3. YES
4, YES
5) 568 6) 894
5. YES
6. YES
7) -2.000 8) -7.427
7. YES
8. no
9) -442.0000 10) -909
0. YES
10. YES
11) -5.2 12
) ) 173 11. no
12. no
13 14) 0
) % ) 13. no
14. YES
15) 16)
16. YES
17 18
) 5 % ) _5% 17. no
18. no
19 20
20. no
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) 1 2) 60
-85 1
2,
3) 641 4) -80.0
3.
4.
5) -721.56 6) 38
B .
6.
41 8) 27
o — 7.
8 3
8.
9) 5 10) 49
-27 9.
10.
11) -6.33 12) 1
65 11.
12.
13) 8 14) -219
13.
14.
15 0 16) 2.0
15.
16.
17) -14 18) 14
7 17.
18.
19 20
'3 '3
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) 1 2) 60
-85 1 no
2, YES
3) 641 4) -80.0
3. YES
4, y€Es
5) -721.56 6)
6. no
7 41 8) 27
8 3 r 0
8. YES
9 10) 49
) -2% ) 0. no
10. YES
11) -6.33 12)
6% 11, no
12. no
13) 8 14) -219
13. YES
14. Yes
15) 0 16) 2.0
) ) 15. YES
16. YES
17) -14 18
) ) % 17. yes
18. YES
19) % 20) 3_: o 10
20. YES
h 1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) 18 2) -978
) :
2.
3) 0.000 4 9
3 3.
4,
5 20 6) 2
— -1— 5,
4 4
6.
7) 2 8 5
-lg 7.
8.
9 2 10) 33
— — 9.
9 8
10.
11) -64.33 12) 3
11.
12.
13) 7 14) -594.00
_83 13.
14.
15) -3 16) -13.1
15.
16.
17) 4 18) 0
Z 17.
18.
19) -34.00 20) -3
19.
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) 18 2) -978
0 Lo
2, YES
3) 0.000 4 g
) 3, YES
4, y€Es
5 20 6) 2
2 2 e
6. no
7) 8) 5
-1% 7. no
8. YES
9 10
10. no
11) -64.33 12) 3
11. no
12. YES
13 14) -594.00
) -8% ) 13. no
14, Y€ESs
15 -3 16) -13.1
) ) 15. YES
16. no
17 18) 0
) % ) 17. YES
18. YES
19) -34.00 20) -3
) ) 19. YES
20. YES
h 1-10 [95[90]85]80]75]70]65] 605550
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) 693.0 2) -418
1.
2,
3 45 97
9 7 3
4.
5) -95 6) _2
— 5.
4
6.
7) -4.90 8) 6
5— 7.
7
8.
9) 5.06 10) 17
9.
10.
11) 41 12) 2
— 11.
9
12.
13) 18 14) 4
— -(—= 13.
9 7
14.
15) 2.0 16) 15
— 15.
6
16.
17) 18) 16
-8= — 17.
7 5
18.
19) 877.0000 20) -9 "
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) 693.0 2) -418
1. YES
2, YES
3 45 9 7 o
5 7 3, y
4, y€Es
2 5. Yy
6. no
7) -4.90 8)
5E 7. no
7
8. no
9) 5.06 10) 17
0. no
10. YES
11) 41 12) 2
— 11. YES
9
12. no
13) 18 14) 4
— ¥ 13. €S
9 7 Y
14. no
15) 2.0 16)
15 15. yes
6
16. no
17 18
) 8= ) ﬁ 17. no
7 5
18. no
19) 877.0000 20) -9
) ) 19. YES
20. YES
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) 30 2) 1
— S~ 1
6 6
2,
3 1 4) 116.000
3.
4.
5) 889 6) _6
-23 5.
6.
n 51 5 3
9 4 !
8.
9 43.0 10) 1
-SE 9.
10.
1) 15 12) -160
? 11.
12.
13) 0 14) 3
13.
14.
15) 6.08 16) 7.215
15.
16.
17) 3 18) 9.0
" 17.
18.
19 20
) % ) % 19,
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) 30 2) 1
2 no
3) 1 4) 116.000
3. YES
4, y€Es
5) 889 6) 6
-23 5. YES
6. no
) 57 8) 3
9 2 QL
8. no
9) 43.0 10) 1
_8E 9. yes
10. no
1) 1 12) -160
?5 11. YES
12. YES
13) 0 14) 3
13. YES
14. Yes
15) 6. 16) 7.
) 6.08 ) 7.215 s no
16. no
17 18
18. YES
19) £ 20) % N no
5
20. YES
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). ANnswers
1) 0 2) 40.63
1.
2.
3) 5 4 71
-1- — 3
7 9
4.
5 12 6) 4
— 8— 5,
V4 V4
6.
N1 8 61
2 7 b
8.
9) -56 10) -56
0.
10.
11) 40.00 12) -822.0000
11.
12.
13) 56 14) 7
— 13.
Z
14.
15) -1.000 16) 3
- Z 15.
16.
17) 8 18) 8
Z 17.
18.
19) -221 20) 29
19.
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) o 2) 40.63
1. YEs
2. no
3) 5 4 71
_17 ? 3. no
4, no
5 12 6) 4
7 87 L
6. no
N 1 8) 61
2 7 » 10
8. no
9) -56 10) -56
0. YES
10. YES
11) 40.00 12) -822.0000
11. YEs
12. YES
13) 56 14)
% 13. YES
14. YEs
15) -1.000 16
) ) - % 15. YES
16. no
17 18) 8
) % ) 17. YES
18. YES
19) -221 20) 29
) ) 19, yes
20. YES
h 1-10 [95]90] 858075 [ 70[ 6560 [ 55 [ 50
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). ANnswers
1) 3 2) 75
65 1.
2.
3 12 4) 33
2 .
4.
5) 219 6) 1
-33 5
6.
7) -741.69 8 1
E 7.
8.
9) 56 10) 0
S 9.
7
10.
11) 196.0000 12) -9
11.
12.
13) -19 14) 5 1
— 13.
2
14.
15) -8 16) 27
? 15.
16.
17) -8.00 18) -424.0000 .
18.
19) -705.69 20) 7
7 19.
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
) .3 2) 75
65 1 no
2, YES
3 12 4) 33
> 3 yes
4, YES
5) 219 6) 1
-33 5. YEs
6. no
7) -741.69 8 1
> 7. no
8. no
9 56 10) 0
= 9. yes
10. YEs
11) 196.0000 12) -9
11. YES
12, YES
13) -19 14)
2% 13. NASS)
14 no
15) -8 16)
2_67 15. yes
16. no
17) -8.00 18) -424.0000
) ) 17. YE€s
18. YES
19) -705.69 20) l N no
7
20. yEes
h 1-10 [95]90]85]80[75] 70]65]60] 55 50
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
H 2 2) 40
9= — 1.
3 5
2,
3) -58 4) 9531
3.
4.
5 57 6) -1
5.
6.
N 3 8) 9.000
5 7.
8.
9 0 10) -68
9.
10.
11) 39 12) 1 "
9 9 |
12.
13) 36 14) 996.0
T 13.
14.
15) -69.0000 16) 4
_9E 15.
16.
17) 47 18) 67
9 17.
18.
19) 74.000 20) 146 "
20.
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
H 2 2) 40
93 5 b 10
2, YES
3) -58 4) 9531
3. YES
4, no
5 57 6) -1
5, YES
6. YES
7 3 8) 9.000 6
— 7.
5
8. YES
9 0 10) -68
9. YES
10. YES
11 12
) 3_99 ) _9% 11. no
12. no
13) 14) 996.0
37,6 13. YES
14, Y€ESs
15) -69.0000 16)
_9% 15. yes
16. no
17 18
) 4—97 ) 67 17. no
18. YES
19) 74.000 20) 146
) ) 19. YES
20. YES
h 1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50
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|dentifying Integers Name:
Determineif the value shown isan integer (yes) or not (no). Answers
1) 77 2) 21.0000
2.
3) 1 4) 5
3= 3.
Z
4,
5) 4 6) -90
9 5.
6.
7) -236 8) 263
7.
8.
9 .3 10) 8
6— — 9.
4 1
10.
11) 1 12) 0
— 11.
2
12.
13) 1 14) 45 13
1 5 '
14.
15) 8 16) 877.25
— 15.
4
16.
17) 2 18) 8
— 17.
2
18.
19) 95 20) -8
19.
20.
1-10 [95[90]85[80] 75| 70| 65| 60] 55 | 50
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Identifying Integers Name. Answer Key
Determineif the value shown isan integer (yes) or not (no). Answers
1) 77 2) 21.0000
9 t no
2 YES
3) 1 4) 3 5
9 3. YES
4, no
5 4 6) -90 o
9= 5.
6. YES
7) -236 8) 263
7. YES
8. YES
9 .3 10) 8
= = no
6 2 1 )
10. YES
11 12) 0
) L ) 11. no
2
12. YES
13) 1 14) 45
— — 13. €S
1 5 Y
14, YES
15 16) 877.25
) 8 ) 15. YES
4
16. no
17 18) 8
) 2 ) 17. yes
2
18. YES
19) 95 20) -8 " no
20. YES
1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50
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